
CHEMISTRY

BOOKS - MS CHOUHAN

ISOMERISM (STRUCTURAL & STEREOISOMERISM)

Level 1

1.  


Relation between (X) and (Y) is :

A. enantiomers

B. diastereomers

C. E and Z isomer

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OsYcYbxqlXK4


D. constitutional isomer

Answer: B

Watch Video Solution

2. Which of the following cyclopentane derivative is optically inactive ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_OsYcYbxqlXK4
https://dl.doubtnut.com/l/_uPyeD4VAWE8g


Answer: C

Watch Video Solution

3. Which is the most stable conformer along the 2,3 C-C bond axis of the

compound ? 

A. 

B. 

https://dl.doubtnut.com/l/_uPyeD4VAWE8g
https://dl.doubtnut.com/l/_c2pG9yZ5JrOe


C. 

D. 

Answer: B

Watch Video Solution

4. Assign double bond configurations to the following: 

A. E

https://dl.doubtnut.com/l/_c2pG9yZ5JrOe
https://dl.doubtnut.com/l/_IdrgdzkVSCNT


B. Z

C. E, E

D. Z, Z

Answer: C

Watch Video Solution

5. Allegra, a common prescription drug with the structure shown below,

is given for the treatment of seasonal allergies. How many stereogenic

carbon does Allegra possess ? 

A. 1

B. 2

https://dl.doubtnut.com/l/_IdrgdzkVSCNT
https://dl.doubtnut.com/l/_SZCuheEnhF17


C. 3

D. 4

Answer: A

Watch Video Solution

6. How many meso isomers of  will be ?

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

C4H8Cl2

https://dl.doubtnut.com/l/_SZCuheEnhF17
https://dl.doubtnut.com/l/_8ALtVCXdTuby


7. The stable form of trans-1, 4 dimethylcyclohexane is represented as:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2dTZGd0Cgxgr


8. Which of the following compound is non-resovable (meso) compounds

?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_snoDGrQaKP8B


9.  


Which conformer of above compound is most stable across ?

A. staggered

B. eclipsed (partially)

C. gauche

D. fully eclipsed

Answer: C

Watch Video Solution

HO − CH2
( 2 )

− CH2
( 3 )

− F

C2 − C3

10. The following molecule is fluorometholone, a steroidal anti-

inflammatory agent. How many stereogenic centers does it contain ? 

https://dl.doubtnut.com/l/_5LSSDv2Czi9C
https://dl.doubtnut.com/l/_ks3Lv2TanDYU


A. 5

B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

11. How many chiral carbons are there in Reserpine (an antipsychotic

drug) ? 

A. 9

B. 8

https://dl.doubtnut.com/l/_ks3Lv2TanDYU
https://dl.doubtnut.com/l/_ihdn57atKe0W


C. 7

D. 6

Answer: B

Watch Video Solution

12. How many chiral centers are in the following compound ? 

A. 4

B. 5

C. 6

https://dl.doubtnut.com/l/_ihdn57atKe0W
https://dl.doubtnut.com/l/_leg1OqNjqaOb


D. 7

Answer: C

Watch Video Solution

13. Which of the following compounds are meso forms ? 

A. A) 1 only

B. B) 3 only

C. C) 1 and 2

D. D) 2 and 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_leg1OqNjqaOb
https://dl.doubtnut.com/l/_i0EcTCTqAhgY


14. The process of separation of racemic mixture into d andl enantiomers

is called :

A. Racemization

B. Isomerization

C. Resolution

D. Equilibration

Answer: C

Watch Video Solution

15. Rank of the following groups in order of R, S precedence (IV is

highest) : - 

A. A) 

−CH(CH3)2
1

     −CH2CH2Br
2

     −CH2Br
3

     −C(CH3)3
4

I II III IV

3 2 4 1

https://dl.doubtnut.com/l/_i0EcTCTqAhgY
https://dl.doubtnut.com/l/_tUau9BWkR7R0
https://dl.doubtnut.com/l/_xUfZDMqwF9wA


B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

I II III IV

1 4 2 3

I II III IV

3 4 1 2

I II III IV

3 4 2 1

16. Which of the following is a meso compound ?

A. A) 

B. B) 

C. C) 

https://dl.doubtnut.com/l/_xUfZDMqwF9wA
https://dl.doubtnut.com/l/_3QqKy5B003Cq


D. D) 

Answer: D

Watch Video Solution

17. Among the following structures, select E isomers (arrows indicate the

bonds to be considerd) ? 

A. A) 1 and 2

B. B) 1 and 3

C. C) 1 and 4

D. D) 2 and 3

https://dl.doubtnut.com/l/_3QqKy5B003Cq
https://dl.doubtnut.com/l/_ayTNc7P8J99D


Answer: C

Watch Video Solution

18. Which of the following compounds has a zero dipole moment ?

A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_ayTNc7P8J99D
https://dl.doubtnut.com/l/_pbONXD6ymrYC


Watch Video Solution

19. On Pluto, where everything is frozen, astronauts discovered two

forms of butane gauche and anti. Assuming that there are no rotations

around single bonds, which statement about the two forms is correct ?

A. A) They are enantiomers

B. B) They are diastereoisomers

C. C) They are meso compounds

D. D) The gauche form has two stereogenic centers, and the anti has

only one

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pbONXD6ymrYC
https://dl.doubtnut.com/l/_93QeDRf7PkU0


20. Which of the following will show optical activity ? 

 


(E)  mixture of C and D

A. A) A, D and E

B. B) A and E only

C. C) B, C and D

D. D) All except C

Answer: A

Watch Video Solution

50/50

21. Among the structure shown below, which has lowest potential

energy?

https://dl.doubtnut.com/l/_DOnxshIOASR3
https://dl.doubtnut.com/l/_7nXrsmMe6HHO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

22. Which of the following molecules is/are chiral ? 

A. I

https://dl.doubtnut.com/l/_7nXrsmMe6HHO
https://dl.doubtnut.com/l/_kvXRleVSIjG2


B. II

C. III

D. I, II

Answer: D

Watch Video Solution

23. A compound was synthesized by a student, but its structure was not

identified.However, his wonderfully helpful instructor told him that it was

a meso compound with 5 carbons and 2 stereogenic centers. Which of

the following structures should the student consider as possibilities for

his compound ? 

A. I,II,IV

B. II, IV

https://dl.doubtnut.com/l/_kvXRleVSIjG2
https://dl.doubtnut.com/l/_zdhSKTulBfdT


C. I, III, V

D. II, IV, V

Answer: A

Watch Video Solution

24. How many isomers are possible for the following molecule ? 

A. 1

B. 2

C. 3

D. 4

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_zdhSKTulBfdT
https://dl.doubtnut.com/l/_2uwEyK6t1hir


Watch Video Solution

25. Which of the following molecules are chiral ? 

A. A) I, II, III and IV

B. B) II, III and IV

C. C) II and IV

D. D) I and II

Answer: A

Watch Video Solution

26. Which equilibrium is not rapid at room temperature ?

A. 

https://dl.doubtnut.com/l/_2uwEyK6t1hir
https://dl.doubtnut.com/l/_5JKHcrycTPeq
https://dl.doubtnut.com/l/_jIAV2YEVn4nV


B. 

C. 

D. 

Answer: B

Watch Video Solution

27. Which is the lowest energy conformation of butane ?

A. 

B. 

https://dl.doubtnut.com/l/_jIAV2YEVn4nV
https://dl.doubtnut.com/l/_RKVtdPTAN1zo


C. 

D. 

Answer: C

Watch Video Solution

28. Which of the structures given below are chiral ? 

A. A) I, II, III

https://dl.doubtnut.com/l/_RKVtdPTAN1zo
https://dl.doubtnut.com/l/_P0a9q2NApw1g


B. B) II, III, V

C. C) II, III

D. D) I, II

Answer: B

Watch Video Solution

29. Which of the following carboxylic acids could be resolved by reaction

with an enantiomerically pure chiral amine ?

A. A) 

B. B) 

C. C) 

https://dl.doubtnut.com/l/_P0a9q2NApw1g
https://dl.doubtnut.com/l/_mf9MllXkq2V5


D. D) 

Answer: C

Watch Video Solution

30. What is the relationship between the molecules in the following

pairs ? 

A. enantiomers

B. diastereomers

C. identical

https://dl.doubtnut.com/l/_mf9MllXkq2V5
https://dl.doubtnut.com/l/_PMxlrmuvP8kN


D. structural isomers

Answer: C

Watch Video Solution

31. What are the correct designations for the structure below ? 

A. E, E

B. Z, E

C. E, Z

D. No geometrical isomers are possible

Answer: D

https://dl.doubtnut.com/l/_PMxlrmuvP8kN
https://dl.doubtnut.com/l/_k5GadJFoj8oy


Watch Video Solution

32. Which of the following molecules are chiral ? 

A. A) I and III

B. B) I and V

C. C) II and III

D. D) II, III, IV

Answer: D

Watch Video Solution

33. Which one of the following isomeric structures has the lowest energy

? 

https://dl.doubtnut.com/l/_k5GadJFoj8oy
https://dl.doubtnut.com/l/_fm32zwBsvpMH
https://dl.doubtnut.com/l/_RoGSfzRpsgnq


Watch Video Solution

34. The following compounds are identical with respect to : 

A. molecular composition

B. boiling point

C. melting point

D. IUPAC name

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RoGSfzRpsgnq
https://dl.doubtnut.com/l/_jatcp52gAunG


35. Among the following, the most stable isomer is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jatcp52gAunG
https://dl.doubtnut.com/l/_kRafyCnMEQOU


36. The most stable conformation of the following compound is : 

A. A) 

B. B) 

https://dl.doubtnut.com/l/_RQDtXcCxlwtd


C. C) 

D. D) 

Answer: C

Watch Video Solution

37. Which of the following molecules have non zero dipole moments ? 

(I) gauche conformation of 1, 2-dibromoethane 

(II) anti conformation of 1, 2-dibromoethane 

(III) trans-1, 4-dibromocyclohexane 

(IV) cis-1, 4-dibromocyclohexane 

(V) tetrabromomethane 

(VI) 1, 1-dibromocyclohexane

A. A) I and II

https://dl.doubtnut.com/l/_RQDtXcCxlwtd
https://dl.doubtnut.com/l/_VyPazqJZ7ZoV


B. B) I and IV

C. C) II and V

D. D) I, IV and VI

Answer: D

Watch Video Solution

38. What is the maximum number of stereoisomers possible for

discodermolide ? 

A. A) 

B. B) 

C. C) 

214

215

216

https://dl.doubtnut.com/l/_VyPazqJZ7ZoV
https://dl.doubtnut.com/l/_mz1XTh7OKZ6d


D. D) 

Answer: B

Watch Video Solution

217

39. An aqueous solution containing compounds A and B shows optical

activity. A and B are stereoisomers. Which of the following possibilities

cannot be correct?

A. A has two chiral centers, but B does not have any because it has a

symmetry plane

B. A and B are enantiomers

C. A and B are diastereomers

D. A and B are not present in equal amounts

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mz1XTh7OKZ6d
https://dl.doubtnut.com/l/_wgwNOZ44qMvc


40. Which of the following structures represents the lowest-energy form

of (1S, 2S, 4R)-trimethyl -cyclohexane ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

41. Which one of the following is a diastereomer of (R)-4-bromo-cis-2-

hexene ?

https://dl.doubtnut.com/l/_wgwNOZ44qMvc
https://dl.doubtnut.com/l/_ikgPcknR4SpR
https://dl.doubtnut.com/l/_RsQqpObsKrcg


A. (S)-4-bromo-cis-2-hexene

B. (S)-5-bromo-trans-2-hexene

C. (R)-4-bromo-trans-2-hexene

D. (R)-5-bromo-trans-2-hexene

Answer: C

Watch Video Solution

42. The structural formula of cocaine is shown below. How many

stereogenic carbon atoms are there in this molecule ? 

https://dl.doubtnut.com/l/_RsQqpObsKrcg
https://dl.doubtnut.com/l/_3RNsrUnVVUjj


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3RNsrUnVVUjj


43. Which of the following statements best describes the stereochemical

relationships of compound I, II and III shown below ? 

A. All compounds are chiral

B. None of the compounds is chiral

C. I and II are meso compounds

D. I and II are diastereomers, and III is a meso compound

Answer:

Watch Video Solution

44. What is the absolute configuration of the following molecules ? (NS =

the molecule has no center) Note : For the purpose of this question only,

https://dl.doubtnut.com/l/_yzjHFjkaVy5Q
https://dl.doubtnut.com/l/_VGj20q1laof0


the order of stereocenters is not specified , i.e., R, S = S, R. 

A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

I II III IV

R R,S R NS

I II III IV

R R,R S R,R

I II III IV

R R,S NS NS

I II III IV

R R,S R R,S

45. The number of all the possible stereoisomers formed by the given

compound is : 

https://dl.doubtnut.com/l/_VGj20q1laof0
https://dl.doubtnut.com/l/_7eqZ2qQF4M22


A. 2

B. 3

C. 32

D. 64

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7eqZ2qQF4M22


46. The relationship among the following pairs of isomers is: 

A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

I − A, II– B, III– B, IV − D

I − A, II– A, III– B, IV − D

I − B, II– A, III– B, IV − D

I − B, II– B, III– A, IV − B

https://dl.doubtnut.com/l/_a6yCFA5A5dib
https://dl.doubtnut.com/l/_qKQMld3EtPgB


47. The structural formula of sativene is shown below. How many

stereogenic centers are there in this molecule ? 

A. 2

B. 4

C. 3

D. 5

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_qKQMld3EtPgB


Watch Video Solution

48. Whịch of the following is the least stable conformer of cyclohexane ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qKQMld3EtPgB
https://dl.doubtnut.com/l/_MhYk0FDicv4k


49. The S- enantiomer of ibuprofen is responsible for its pain-relieving

properties. Which one of the following structures shown below is (S)-

ibuprofen ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HrNa0d4S8pWe
https://dl.doubtnut.com/l/_50c9wGWSeGBA


50. Which of the following depict the same ? 

A. 1 and 2

B. 2 and 3

C. 1 and 3

D. 1, 2, and 3

Answer: D

Watch Video Solution

51. A naturally occurring substance has the constitution shown below.

How many may have this constitution ? 

https://dl.doubtnut.com/l/_50c9wGWSeGBA
https://dl.doubtnut.com/l/_zYSW6eGH3jDf


A. 2

B. 8

C. 16

D. 64

Answer: D

Watch Video Solution

52. The absolute configurations of the two centers in the following

molecule are : 

https://dl.doubtnut.com/l/_zYSW6eGH3jDf
https://dl.doubtnut.com/l/_ZQMwqalXZ7Xi


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2(R), 3(S)

2(R), 3(R)

2(S), 3(S)

2(S), 3(R)

https://dl.doubtnut.com/l/_ZQMwqalXZ7Xi


53. The total number of stereoisomer possible for 2, 3-dichloro butane :

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

54. Which of the following structure is not meso-2,3-butanediol ?

A. 

https://dl.doubtnut.com/l/_RFwmYMt0MeMI
https://dl.doubtnut.com/l/_E2IR5ziVWYDl


B. 

C. 

D. 

Answer: A

Watch Video Solution

55. A solution of optically active 1- phenylethanol racemizes in acidified

aqueous medium. It is due to :

A. enolization

https://dl.doubtnut.com/l/_E2IR5ziVWYDl
https://dl.doubtnut.com/l/_Ww51XXjlTIKO


B. carbonium ion formation

C. carbanion formation

D. reversible oxidation-reduction

Answer: B

Watch Video Solution

56. The most stable conformation of ethylene glycol is :

A. A) Anti

B. B) Gauche

C. C) Partially eclipsed

D. D) Fully eclipsed

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ww51XXjlTIKO
https://dl.doubtnut.com/l/_JNtrSHXmW7E0


57.  


The molecules represented by the above two structures are :

A. identical

B. enantiomers

C. diastereomers

D. epimers

Answer: A

Watch Video Solution

58. The correct order of priority of groups -

 and , on the

basis of CIP classification, is (increasing order) :

SCH3(I), − NO2(II), − C ≡ CH(III) – CH2C6H5(IV )

https://dl.doubtnut.com/l/_4OjcNQGxBKBo
https://dl.doubtnut.com/l/_dYbHuXnScplu


A. I, III, II, IV

B. IV, III, II, I

C. II, IV, I, III

D. III, IV, II, I

Answer: B

Watch Video Solution

59. The configuration at C-2 and C-3 of the compound given : 

https://dl.doubtnut.com/l/_dYbHuXnScplu
https://dl.doubtnut.com/l/_2smDy9mNhgBi


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2R, 3S

2S, 3R

2S, 3S

2R, 3R

60. Amongst the following amino acids, the (R) - enantiomer is

represented by:

A. 

B. 

https://dl.doubtnut.com/l/_2smDy9mNhgBi
https://dl.doubtnut.com/l/_5HvH7Y85WWJa


C. 

D. 

Answer: B

Watch Video Solution

61. Which of the following is a meso compound ?

A. 

B. 

https://dl.doubtnut.com/l/_5HvH7Y85WWJa
https://dl.doubtnut.com/l/_JcK35rh6Zh9w


C. 

D. All of these

Answer: D

Watch Video Solution

62. Predict stereochemistry of product when d and l-amine reacts with l-

acid:

A. Diastereomers

B. Meso

C. Racemic

D. Pure Enantiomer

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JcK35rh6Zh9w
https://dl.doubtnut.com/l/_qQEiQ6iYapoc


63. How many chiral center (excluding N centres) are there in morphine? 

A. 4

B. 5

C. 6

D. More than 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qQEiQ6iYapoc
https://dl.doubtnut.com/l/_kFnXIzHSIHOQ


64. Which dimethylcyclobutane is optically active ?

A. trans-1,2

B. cis-1, 2

C. trans-1,3

D. cis-1, 3

Answer: A

Watch Video Solution

65. Which of the following is the enantiomer of the compound shown

below ? 

https://dl.doubtnut.com/l/_HEonkiDyIZ7D
https://dl.doubtnut.com/l/_IIHrKe6xNLD6


A. 

B. 

https://dl.doubtnut.com/l/_IIHrKe6xNLD6


C. 

D. 

Answer: A

Watch Video Solution

66. How many different stereoisomers are possible for the following

compound ? 

A. 1

ClHC = HC −

H

∣

C
∣

Cl

− CH = CHCl

https://dl.doubtnut.com/l/_IIHrKe6xNLD6
https://dl.doubtnut.com/l/_RTvzpq82f9z5


B. 2

C. 3

D. 0

Answer: D

Watch Video Solution

67. The following compounds are best described as : 

 and 

A. enantiomers

B. diastereomers

C. not stereoisomers

D. conformational isomers (differing by single bond rotation)

Answer: A

Watch Video Solution

(R) − PhCH(OH)CH3 (S) − PhCH(OH)CH3

https://dl.doubtnut.com/l/_RTvzpq82f9z5
https://dl.doubtnut.com/l/_0VgeuXARRVMd


68. Rank of the following groups in order of R, S precedence (IV is

highest) : - 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−CH(CH3)2
1

     −CH2CH2Br
2

     −CH2Br
3

     −C(CH3)3
4

2 > 3 > 1

1 > 3 > 2

3 > 1 > 2

2 > 1 > 3

69. Compare the stabilities of the following two compounds : 

A : cis-1-Ethyl-3-methylcyclohexane 

B: trans-1-Ethyl-3-methylcyclohexane

https://dl.doubtnut.com/l/_0VgeuXARRVMd
https://dl.doubtnut.com/l/_TySk3UqNjft1
https://dl.doubtnut.com/l/_mtpaTMVwGc7I


A. A is more stable

B. A and B are of equal stability

C. B is more stable

D. No comparison can be made

Answer: A

Watch Video Solution

70. What, if anything, can be said about the magnitude of the

equilibrium constant K for the following equilibrium ? 

A. 

B. 

C. 

K = 1

K < 1

K > 1

https://dl.doubtnut.com/l/_mtpaTMVwGc7I
https://dl.doubtnut.com/l/_hSr45otcnpPZ


D. No estimate of K can be made

Answer: B

Watch Video Solution

71. What is the relationship between the two structures shown ? 

A. Constitutional isomers

B. Stereoisomers

C. Different drawing of the same conformation of the same

compound

D. Different conformation of the same compound

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hSr45otcnpPZ
https://dl.doubtnut.com/l/_wsOQzVtpPtcl


Watch Video Solution

72. Which of the following statements is true ?

A. van der Waals' strain in cis-1, 2 dimethylcyclopropane is the

principal reason for its decreased stability relative to the trans

isomer

B. Cyclohexane gives off more heat per  group on being burned

in air than any other cycloalkane

C. The principal source of strain in the boat conformation of

cyclohexane is angle strain

D. The principal source of strain in the gauche conformation of

butane is torsional strain

Answer: A

Watch Video Solution

CH2

https://dl.doubtnut.com/l/_wsOQzVtpPtcl
https://dl.doubtnut.com/l/_1I0pQRDecojt
https://dl.doubtnut.com/l/_SnMUQO8x8Xc8


73. Isomer (x) is :

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

Ph − CH = NO2H
isomerises

−−−−−−−→
3 days

(x)
( 50 − 50 % )

Ph − NO − CH2OH

Ph − CH2 − NO2

Ph − NH − CO2H

74. Which of the following will not show geometrical isomerism ?

A. 

B. 

C. 

D. 

CH3 − C
∣

CH3

= CH − CH2 − CH3

CH3 − CH
∣

CH3

− CH = CH − CH2 − CH3

CH3 − CH = CH − CH3

CH3 − CH2 = CH − CH2 − CH3

https://dl.doubtnut.com/l/_SnMUQO8x8Xc8
https://dl.doubtnut.com/l/_j8zMf1OV8JAk


Answer: A

Watch Video Solution

75. The two compounds shown below are : 

A. diastereomers

B. enantiomers

C. epimers

D. regiomers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_j8zMf1OV8JAk
https://dl.doubtnut.com/l/_7GbDE4VhrAc2
https://dl.doubtnut.com/l/_bYJ8eFqzKSOG


76. The molecular formula of diphenylmethane, 

 


How many structural isomers are possible when one of the hydrogen is

replaced by a chlorine atom ?

A. 6

B. 4

C. 8

D. 7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bYJ8eFqzKSOG


77. Correct configuration of the following molecule is : 

A. 2S, 3S

B. 2S, 3R

C. 2R, 3S

D. 2R, 3R

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SIWpYlsEzTOs


78. Maximum enol content is in :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GQA6jbV783yo
https://dl.doubtnut.com/l/_2F7jsuXG7zUw


79. Which of the following will have one of the stereoisomer meso ?

A. 2-chlorobutane

B. 2, 3-dichlorobutane

C. 2,3-dichloropentane

D. 2-hydroxypropanoic acid

Answer: B

Watch Video Solution

80. The correct decreasing order in the enol content of following

molecules is : 

A. I > II > III

https://dl.doubtnut.com/l/_2F7jsuXG7zUw
https://dl.doubtnut.com/l/_hdxVQvvpHrN3


B. 

C. 

D. 

Answer: A

Watch Video Solution

II > I > III

III > II > I

II > III > I

81. Total number of stereoisomers of the compound 1-bromo-3-

chlorocyclobutane is:

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hdxVQvvpHrN3
https://dl.doubtnut.com/l/_1IbRO9tb48eG


82. Total number of stereoisomers of the 1,3 dichlorocyclohexane is:

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

83. Total number of stereoisomers of the compound 1, 4-

dichlorocyclohexane is :

A. 0

B. 1

C. 2

https://dl.doubtnut.com/l/_1IbRO9tb48eG
https://dl.doubtnut.com/l/_RFxpNKHir3xF
https://dl.doubtnut.com/l/_WwgXN4T1Lx2e


D. 3

Answer: C

Watch Video Solution

84. Total number of stereoisomers of the compound 2-4-dichloroheptane

is:

A. 0

B. 1

C. 2

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WwgXN4T1Lx2e
https://dl.doubtnut.com/l/_zIrRP5ntpe7w


85. In which of the following keto form is more dominating than enol

form:

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bS9Djk4VMvgM


86. Among the following compounds, which will give maximum enol

content in solution :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C6H5 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − C6H5

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH3

CH3 −

O

∣ ∣

C − CH2 − COOC2H5

87. Which of the following has unstable enol form ?

A. 

https://dl.doubtnut.com/l/_sRauSTLRqhPA
https://dl.doubtnut.com/l/_PPCI4uveeVJp


B. 

C. 

D. 

Answer: C

Watch Video Solution

88. Calculate enantiomeric excees of mixture containing 6g of (+) 2-

butanol and 4g of (-) -2-butanol.

A. 

B. 

10 %

20 %

https://dl.doubtnut.com/l/_PPCI4uveeVJp
https://dl.doubtnut.com/l/_j570oa6Ha4Vm


C. 

D. 

Answer: B

Watch Video Solution

40 %

33 %

89. Which of the following pair represent pair of diastereomers ?

A. Meso tartaric acid and (l) tartaric acid

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_j570oa6Ha4Vm
https://dl.doubtnut.com/l/_p2CJr0clXm4F


90. The stereochemistry of this molecule is : 

A. 1R, 3R

B. 1R, 3S

C. 1S, 3S

D. 1S, 3R

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_p2CJr0clXm4F
https://dl.doubtnut.com/l/_bBa4OxkI7NXm


91. Pure (S)-2-butanol has a specific rotation of +13.52 degrees. A sample

of 2-butanol prepared in the lab and purified by distillation has a

calculated specific rotation of +6.76 degrees. What can you conclude

about the composition ?

A. 50% (S), 50% impurity

B. 50% (S), 50% (R)

C. 50% (S), 50% racemic

D. some other mixture

Answer: C

Watch Video Solution

92. Determine the absolute configurations of the chiral centres in the

following compound. 

https://dl.doubtnut.com/l/_iS0Wl3OpHf2M
https://dl.doubtnut.com/l/_J4aCPkmFvxtp


A. a=R, b=S

B. a = R, b=R

C. a =S, b=S

D. a =S, b=R

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_J4aCPkmFvxtp


93. Total number of stereoisomers possible for following compound is : 

A. 8

B. 16

C. 32

D. 64

Answer: A

Watch Video Solution

94. Which is the correct structure of D glyceraldehyde ?

https://dl.doubtnut.com/l/_aEeSbSRiMhHd
https://dl.doubtnut.com/l/_rEc59scduV42


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

95.  


Which conformer of above compound is most stable (consider

HO − CH2
( 3 )

− CH2
( 2 )

−

O

∣ ∣

C
( 1 )

− H

https://dl.doubtnut.com/l/_rEc59scduV42
https://dl.doubtnut.com/l/_PifBYTzE7lWF


conformer across 

A. Staggered

B. Gauche

C. Fully eclipsed

D. Partially eclipsed

Answer: B

Watch Video Solution

(C2 − C3)

96.  (D) & (L)

Configuration of above carbohydrate is :

A. L, L, D

B. L, D, L

https://dl.doubtnut.com/l/_PifBYTzE7lWF
https://dl.doubtnut.com/l/_OiVdDphFhzeg


C. L, L, L

D. L, D, D

Answer: B

Watch Video Solution

97. How many isomers have the name bromomethylcyclopentane ?

(ignoring chirality)

A. 4

B. 5

C. 6

D. 7

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OiVdDphFhzeg
https://dl.doubtnut.com/l/_AvVMNybXt0Kh
https://dl.doubtnut.com/l/_JAC0UnBmYUJp


98. Which of the following compounds will show geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

99. Which of the following structure represent meso-compound ?

https://dl.doubtnut.com/l/_JAC0UnBmYUJp
https://dl.doubtnut.com/l/_Ouu62I8H5Nf1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ouu62I8H5Nf1


100.  


How many representations of lactic acid are possible in Fischer

projection (d &l)?

A. 8

B. 12

C. 24

D. 36

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RHPs3byXMn7o


101. Total number of stereoisomer formed by the given compound is : 

A. 2

B. 3

C. 4

D. 8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RHPs3byXMn7o
https://dl.doubtnut.com/l/_xFVjNTCtYNQR
https://dl.doubtnut.com/l/_fFp2hKaFpSju


102. The number of stereoisomers formed by the given compound is : 

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fFp2hKaFpSju


103. Which of the following compound does not undergo base -

catalyzed exchange in  even though it has an -hydrogen?

A. 

B. 

C. 

D. both (b) & (c)

Answer: D

Watch Video Solution

D2O α

https://dl.doubtnut.com/l/_fFp2hKaFpSju
https://dl.doubtnut.com/l/_AtTkRpaH4sgF


104.  


Identify the product formed in the above reaction:

A. 

B. 

C. 

D. None of these

Answer: B

https://dl.doubtnut.com/l/_AtTkRpaH4sgF
https://dl.doubtnut.com/l/_zDTFD9opy1aR


Watch Video Solution

105. In 3-methyl-2-cyclohexenone which hydrogen cannot undergo

deuterium exchange when it reacts with  ? 


A. 

B. 

C. 

D. 

Answer: B

CH3O
Θ /CH3OD

H1, H4

H4

H3, H2

H5, H3

https://dl.doubtnut.com/l/_zDTFD9opy1aR
https://dl.doubtnut.com/l/_ljsqvAgeQWD3


Watch Video Solution

106.  


The tautomer of II is :

A. I

B. III

C. both I and III

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ljsqvAgeQWD3
https://dl.doubtnut.com/l/_LRBdmimLlDbc


107.  


In the enolization of the given molecule, the H-atom involved is :

A. 

B. 

C. 

D. cannot be enolized

Answer: C

Watch Video Solution

α − H

β − H

γ − H

https://dl.doubtnut.com/l/_GXW9lLJr2n1j


108.  


Among the given structure which hydrogen can exhibit tautomerism ?

A. alpha

B. beta only

C. gama

D. none of these

Answer: B

https://dl.doubtnut.com/l/_GXW9lLJr2n1j
https://dl.doubtnut.com/l/_CaIS2ScRjgZx


Watch Video Solution

109.  


Identify the which can exhibit tautomerism ?

A. I only

B. II only

C. III only

D. all of these

Answer: D

Watch Video Solution

110.  Between the two tautomers

which is more stable ?

CH3 − CHO and CH2 = CH − OH

https://dl.doubtnut.com/l/_CaIS2ScRjgZx
https://dl.doubtnut.com/l/_XeCPIPI4j2nl
https://dl.doubtnut.com/l/_ZGoHP2A8rGTJ


A. I

B. II

C. I = II

D. none of these

Answer: A

Watch Video Solution

111.  


Correct stability order of the given tautomers is :

A. 

B. 

C. 

I > II > III

III > II > I

II > I > III

https://dl.doubtnut.com/l/_ZGoHP2A8rGTJ
https://dl.doubtnut.com/l/_jLRqYFfGSRIz


D. 

Answer: C

Watch Video Solution

II > III > I

112.  


Correct stability order of the given tautomers is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II > III

III > II > I

II > I > III

II > III > I

https://dl.doubtnut.com/l/_jLRqYFfGSRIz
https://dl.doubtnut.com/l/_KUUbTA2CEYTo
https://dl.doubtnut.com/l/_VL7Vs7TR4Mk4


113.  


The correct order of enol contents x, y, z is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x > y > x

z > y > x

y > x > z

x > z > y

https://dl.doubtnut.com/l/_VL7Vs7TR4Mk4


114.  


(x, y, z represent enol content) 

The correct order of x, y, z is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x > y > z

z > y > x

y > x > z

x > z > y

https://dl.doubtnut.com/l/_IpCCrEgfj0Kz


115.  


Among the given ketones, the one which does not enolize is :

A. I

B. II

C. III

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1XTaFjTiT9xp


116.  


The product of this reaction should be :

A. 

B. 

https://dl.doubtnut.com/l/_Y4JcDHrLKMLM


C. 

D. All of these

Answer: B

Watch Video Solution

117.  


Among the given compounds, the correct order of enol content is :

A. 

B. 

C. 

I > II > III

III > II > I

II > I > III

https://dl.doubtnut.com/l/_Y4JcDHrLKMLM
https://dl.doubtnut.com/l/_D7HSLZMfZmRa


D. 

Answer: C

Watch Video Solution

II > III > I

118.  


Among the given compounds, the correct order of enol content is :

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

I > II > III

III > II > I

II > I > III

II > III > I

https://dl.doubtnut.com/l/_D7HSLZMfZmRa
https://dl.doubtnut.com/l/_1FL90pfpk4G5


Watch Video Solution

119.  


Among the given compounds, the correct order of enol content is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II > III

III > II > I

III > I > II

II > I > III

https://dl.doubtnut.com/l/_1FL90pfpk4G5
https://dl.doubtnut.com/l/_1KpWYrXCJ6Kb


120.  


How many geometrical isomers are possible for the above compound ?

A. 3

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XgYfEQsx2zOn


121. Which of the following compound will not show geometrical

isomerism across the it -bond ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

https://dl.doubtnut.com/l/_1CEx9KrNUC1z


122.  


Choose the correct relation between  and  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

l1 l2

l1 = l2

l1 > l2

l1 < l2

l2 = 2l1

https://dl.doubtnut.com/l/_1CEx9KrNUC1z
https://dl.doubtnut.com/l/_Su5pYPzoBTaZ


123.  


Choose the correct relation between  and  ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l1 l2

l1 = l2

l1 > l2

l1 < l2

l2 = 2l1

https://dl.doubtnut.com/l/_fOr9y3aulXJP


124.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jubG93tjgKws


125.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5kPAouUvBrXC


126.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tjuPH7vXn8xh


127.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_ygRcrrhxbmyJ


Answer: B

Watch Video Solution

128.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_ygRcrrhxbmyJ
https://dl.doubtnut.com/l/_T8yCmWgS97FC


Answer: A

Watch Video Solution

129.  


How many geometrical isomers are possible for the above compound ?

A. 0

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_T8yCmWgS97FC
https://dl.doubtnut.com/l/_8zTFJUJOIUFz


130.  


I and II are geometrical isomers of each other because

A. 

B. 

C. 

D.  cannot be compared.

Answer: C

Watch Video Solution

l1 = l2

l1 > l2

l2 > l1

l1 and l2

131.  


How many geometrical isomers are possible for this compound ?

A. 2

CH2 = CH– CH = CH– CH = CH2

https://dl.doubtnut.com/l/_8zTFJUJOIUFz
https://dl.doubtnut.com/l/_0YmlXmrRN44d
https://dl.doubtnut.com/l/_VuOzN0ZHDegc


B. 3

C. 4

D. 8

Answer: A

Watch Video Solution

132.  


How many geometrical isomers are possible for this compound?

A. 2

B. 3

C. 4

D. 6

Answer: C

Watch Video Solution

CH3 − CH = C
∣

Br

CH
∣

Cl

− CH2 − CH3

https://dl.doubtnut.com/l/_VuOzN0ZHDegc
https://dl.doubtnut.com/l/_inheFyc37DzI


Watch Video Solution

133.  


How many geometrical isomers of this compound are possible ?

A. 2

B. 3

C. 4

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_inheFyc37DzI
https://dl.doubtnut.com/l/_i55ER6uhIJ2F


134. 

A. chiral

B.  axis of symmetry

C. Optically active

D. All of these

Answer: D

Watch Video Solution

C3

https://dl.doubtnut.com/l/_mWOAHB3KGf7w


135.  


Relationship between above pair (A) & (B) is :

A. Enantiomer

B. Diastereomers

C. Identical

D. Structural isomer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_O0Flp7h5L8bl


136.  


From above compound (A), (B), (C) & (D) chiral compound is :

A. A

B. B

C. C

D. D

Answer: A

Watch Video Solution

137. Which of the following molecules is achiral?

https://dl.doubtnut.com/l/_Bia0PspOzwnc
https://dl.doubtnut.com/l/_I6KTl8KgzUjS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_I6KTl8KgzUjS


138.  


R and S configuration of compound (A) & (B) will be :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

R, R

R, S

S, R

S, S

139. Which of following compound has center of symmetry?

A. 

https://dl.doubtnut.com/l/_GdMPnPzuDgQT
https://dl.doubtnut.com/l/_n7oDrIOcjDRs


B. 

C. 

D. All of these

Answer: D

Watch Video Solution

140. Which mixture of structure in each beaker would rotate plane

polarized light ?

A. 

https://dl.doubtnut.com/l/_n7oDrIOcjDRs
https://dl.doubtnut.com/l/_xfC18V8qq7CJ


B. 

C. 

D. All of these

Answer: D

Watch Video Solution

141. Which of following compound will rotate the plane polarized light at

room temperature?

A. 

https://dl.doubtnut.com/l/_xfC18V8qq7CJ
https://dl.doubtnut.com/l/_6VjhcAnefhuR


B. 

C. 

D. 

Answer: B

Watch Video Solution

142. Which of the following having plane of symmetry?

A. 

https://dl.doubtnut.com/l/_6VjhcAnefhuR
https://dl.doubtnut.com/l/_UmPrnrbUqI1A


B. 

C. 

D. All of these

Answer: D

Watch Video Solution

143. Which of following compound is achiral ?

A. 

https://dl.doubtnut.com/l/_UmPrnrbUqI1A
https://dl.doubtnut.com/l/_9XTsL8oZFyTM


B. 

C. 

D. All of these

Answer: D

Watch Video Solution

144. Which of the following compound has plane of symmetry ? 

A. 

R = − CH
∣

CH3

− CH    S = − CH
∣

Br

− Cl

https://dl.doubtnut.com/l/_9XTsL8oZFyTM
https://dl.doubtnut.com/l/_dRlKDxRVYbax


B. 

C. 

D. None of these

Answer: D

Watch Video Solution

145. Which of following is E isomer ?

A. 

https://dl.doubtnut.com/l/_dRlKDxRVYbax
https://dl.doubtnut.com/l/_zEIKLaTMbU2R


B. 

C. 

D. 

Answer: D

Watch Video Solution

146. Among the given pairs, in which pair second compound has less

enol content than first compound?

A. 

https://dl.doubtnut.com/l/_zEIKLaTMbU2R
https://dl.doubtnut.com/l/_hVPTTGXKwjhA


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

147. Which of the following is incorrect relation between given pairs ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_hVPTTGXKwjhA
https://dl.doubtnut.com/l/_AHWbU9U98Hzl


Answer: D

Watch Video Solution

148. , (A) and (B) are isomer and isomerization

effectively carried out by trace of base (B). Identify (B).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ph − CH
∣

OH
(A )

−

O

∣ ∣

C − O − H

Ph − CH2 −

O

∣ ∣

C − O − H

Ph −

O

∣ ∣

C − O − CH3

Ph −

O

∣ ∣

C − CH2 − OH

H −

O

∣ ∣

C − CH2 − O − Ph

https://dl.doubtnut.com/l/_AHWbU9U98Hzl
https://dl.doubtnut.com/l/_LcFXoCucqObo
https://dl.doubtnut.com/l/_9b7OOKumYDCw


149. , total number of

geometrical isomer is :

A. 2

B. 3

C. 4

D. 6

Answer: B

Watch Video Solution

CH3 − CH = CH − CH = CH − CH3

https://dl.doubtnut.com/l/_9b7OOKumYDCw


150. Identify most stable enol form of terric acid: 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_bcVwZFTE0ZUl


D. 

Answer: C

Watch Video Solution

151. Which structure is most stable ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_bcVwZFTE0ZUl
https://dl.doubtnut.com/l/_20a3IeJjtIr4


D. 

Answer: C

Watch Video Solution

152. Identify conformer of 2-methly pentane :

A. 

B. 

https://dl.doubtnut.com/l/_20a3IeJjtIr4
https://dl.doubtnut.com/l/_EV7BwnZ4VJNG


C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_EV7BwnZ4VJNG


153. The lowest energy conformer of

 is:

A. 

https://dl.doubtnut.com/l/_P3tcgCeb3uL0


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_P3tcgCeb3uL0


154.  


How many atoms will bisect during plane of symmetry ?

A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

155. The number of all types of isomers of chlorobutane is :

https://dl.doubtnut.com/l/_qsLAB7OsHHPU
https://dl.doubtnut.com/l/_lsvLnoqLtUr8


A. 2

B. 4

C. 6

D. 5

Answer: D

Watch Video Solution

156. Which of the following pairs of compounds are not positional

isomers ?

A. 

B. 

C. 

D. All of these

https://dl.doubtnut.com/l/_lsvLnoqLtUr8
https://dl.doubtnut.com/l/_ow1I4nkRmwa8


Answer: C

Watch Video Solution

157. Which of the following pairs of compounds are functional isomers ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ow1I4nkRmwa8
https://dl.doubtnut.com/l/_m9E4IJWI5MrB


158. The isomeric alcohol which has a chiral carbon atom is:

A. n-butyl alcohol

B. iso-butyl alcohol

C. sec-butyl alcohol

D. tert-butyl alcohol

Answer: C

Watch Video Solution

159. The pair of enantiomers among the following compound is: 

A. I and IV

B. II and IV

https://dl.doubtnut.com/l/_bEoPzDF8mwim
https://dl.doubtnut.com/l/_cUiNdw3bNNWb


C. II and III

D. I and II

Answer: C

Watch Video Solution

160. Which of the following is chiral?

A. A) Cell phone

B. B) Spiral staircase

C. C) Scissor

D. D) All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cUiNdw3bNNWb
https://dl.doubtnut.com/l/_52F5SCnSoN7A


161. In which of the following compound, possess plane of symmetry as

well as centre of symmetry?

A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_EB5NArcXjjHH


Watch Video Solution

162. Which of the following compound has one of the stereoisomers as a

meso compound?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_EB5NArcXjjHH
https://dl.doubtnut.com/l/_kf9tFh4O0Bwu


Answer: B

Watch Video Solution

163. For the following Newman projection 

A. A) 

https://dl.doubtnut.com/l/_kf9tFh4O0Bwu
https://dl.doubtnut.com/l/_D6fRs7ZvKLWK


B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_D6fRs7ZvKLWK


164. Which of the following is correct for the given compound? 

A. It possess centre of symmetry

B. It possess  axis of symmetry

C. It possess plane of symmetry

D. compound is chiral

Answer: C

Watch Video Solution

C4

https://dl.doubtnut.com/l/_4WKIUDeNkQf6


165. Which of the following molecules has axis of symmetry and a coaxial

plane of symmetry? 

 


(e) All of these

Watch Video Solution

166. Number of diastereomer of given compound : 

https://dl.doubtnut.com/l/_zImBkdvU5xBx
https://dl.doubtnut.com/l/_hipqgVj2LVel


A. 2

B. 3

C. 4

D. 6

Answer: B

Watch Video Solution

167. Which of the structures is/are diastereomer of A ? 

A. 3

B. 1 and 4

https://dl.doubtnut.com/l/_hipqgVj2LVel
https://dl.doubtnut.com/l/_3238Je7zhpbh


C. 2 and 3

D. 5

Answer: B

Watch Video Solution

168. Identify which of the structures below are meso structures ? 

A. 1 and 3

B. 1,3 and 5

C. 1,3 and 4

D. 2 and 5

Answer: A

https://dl.doubtnut.com/l/_3238Je7zhpbh
https://dl.doubtnut.com/l/_iDX4bcEueFqK


Watch Video Solution

169. How many enol form is possible for

 (including stereoisomers) will be ?

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

CH3 − CH2 −

O

∣ ∣

C − CH2 − CH3

170. Find the sum of all the stereocenters that are present in below

compounds : 

https://dl.doubtnut.com/l/_iDX4bcEueFqK
https://dl.doubtnut.com/l/_T0DsuZosdZtm
https://dl.doubtnut.com/l/_BHcUkTuZeqCH


A. 8

B. 9

C. 10

D. 11

Answer: C

Watch Video Solution

171. A pair of stereoisomers might be classified in various ways. Which of

the following statement are true with respect to pairs of stereoisomers ?

(a) They might be configurational isomers 

(b) They might be diastereomers 

(c) They might be constitutional isomers 

(d) They might be tautomers . 

https://dl.doubtnut.com/l/_BHcUkTuZeqCH
https://dl.doubtnut.com/l/_7ZQ2X0ytk6lr


(e) They might be conformational isomers 

(f) They might be enantiomers 

(g) They might be positional isomers

A. a, b, f, e

B. b, d, e, f, g

C. a, b, f

D. a, b, c, f

Answer: C

Watch Video Solution

172. Ignoring specific markings, which of the following objects are chiral ?

(I) a shoe (II) a book (III) a pencil 

(IV) a pair of shoes (consider the pair as one object) (V) a pair of scissors

A. A) I only

B. B) I & V

https://dl.doubtnut.com/l/_7ZQ2X0ytk6lr
https://dl.doubtnut.com/l/_W7oHpoHGv6No


C. C) I, IV, V

D. D) III, IV, V

Answer: B

Watch Video Solution

173. Calculate the total number of stereoisomers when alkene having

trans configuration : 

A. A) 2

B. B) 3

https://dl.doubtnut.com/l/_W7oHpoHGv6No
https://dl.doubtnut.com/l/_5P0d2Dgo7Eef


C. C) 4

D. D) 8

Answer: C

Watch Video Solution

174.  


After prolonged treatment of (A) by , the difference in

molecular weights of compounds (A) and (B) is :

A. A) 2

B. B) 3

C. C) 4

D2O/DO−

https://dl.doubtnut.com/l/_5P0d2Dgo7Eef
https://dl.doubtnut.com/l/_YPc4dSV9Kuj3


D. D) 8

Answer: C

Watch Video Solution

175.  A mixture

of all isomers possible from the mono-chlorination of the structure is

subjected to fractional distillation, then how many fractions will be

obtained?

A. A) 2

B. B) 3

C. C) 4

D. D) 5

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_YPc4dSV9Kuj3
https://dl.doubtnut.com/l/_DFN51ds9KT15


Watch Video Solution

176.  Number

of optically active isomer is/are :

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DFN51ds9KT15
https://dl.doubtnut.com/l/_YeApjcVaYzHb


177. At normal temperature, X and Y 

A. resonance structures

B. tautomers

C. functional isomers

D. positional isomers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YeApjcVaYzHb
https://dl.doubtnut.com/l/_TPTbat2o7Jzc


178. Two possible stereoisomers for 

A. A) enantiomers

B. B) diastereomers

C. C) conformers

D. D) rotamers

Answer: A

Watch Video Solution

179. The configurations of the carbon atoms  and  in the following

compound are respectively 

C2 C3

https://dl.doubtnut.com/l/_jGPrT8TtKhgM
https://dl.doubtnut.com/l/_QKWleXv78aq0


A. A) R, R

B. B) S, S

C. C) R, S

D. D) S,R

Answer: A

Watch Video Solution

180. The compound that is chiral is

https://dl.doubtnut.com/l/_QKWleXv78aq0
https://dl.doubtnut.com/l/_GLyI7a0wWI1p


A. 3-methyl-3-hexene

B. 4chloro-1-methycyclohexane

C. 2-phenylpentane

D. 1,3-disopropylbenzene

Answer: C

Watch Video Solution

181. Number of optically active tartaric acid is/are possible :

A. A) 1

B. B) 2

C. C) 3

D. D) 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GLyI7a0wWI1p
https://dl.doubtnut.com/l/_fmehclavonoD


182.  Number

of optically active isomer is/are :

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fmehclavonoD
https://dl.doubtnut.com/l/_ANeFPQaOhPHs


183. Correct relationship b/w pair of compounds. 

A. 1-Conformer, 2-Conformer , 3-Conformer

B. 1-Conformer, 2-Stereoisomers (GI) , 3-Stereoisomers (GI)

C. 1-Conformer , 2-Stereoisomers (GI), 3-Conformer

D. 1-Stereoisomerism (GI) , 2- Stereoisomerism (GI) , 3-Conformer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ANeFPQaOhPHs
https://dl.doubtnut.com/l/_OTvaILr2MGfA


184. Number of diastereomers possible for

A. A) 1

B. B) 2

C. C) 4

D. D) 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cZrRV8utFRGm


185.  


Sum X + Y = ?

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nEcZvG0ttVgd


Level 2

1. Match the Column (I) and (II). 

Watch Video Solution

https://dl.doubtnut.com/l/_nEcZvG0ttVgd
https://dl.doubtnut.com/l/_ret3uHNhMAui


2. Match the Column (I) and (II). 

Watch Video Solution

https://dl.doubtnut.com/l/_2TMcx76Bx83U


3. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_ZBeRLVsMlW0E


4. Match the Column (I) and (II), (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_A7gXOVggiDla


5. Match the Column (I) and (II). 

Watch Video Solution

6. Match the Column (I) and (II). (Matrix) 

https://dl.doubtnut.com/l/_T9pMFzKAVHCX
https://dl.doubtnut.com/l/_ffwYDBMH0In6


Watch Video Solution

7. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_ffwYDBMH0In6
https://dl.doubtnut.com/l/_9mmj1EJTADW6


8. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_ROAFwO3spjVF


9. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_zGuMyI52kzW8


10. Match the Column (I) and (II). 

Watch Video Solution

https://dl.doubtnut.com/l/_bMkhqY8j7ozk


11. Match the Column (I) and (II). 

Watch Video Solution

https://dl.doubtnut.com/l/_VOCqLK8XXKGH


12. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

13. Match the Column (I) and (II). 

https://dl.doubtnut.com/l/_OapkApweP7bd
https://dl.doubtnut.com/l/_VhBrlIUiweIm


Watch Video Solution

14. Match the Column (I) and (II). 

Watch Video Solution

https://dl.doubtnut.com/l/_VhBrlIUiweIm
https://dl.doubtnut.com/l/_E2ayBnNzFzAq


15. Match the Column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_Ctl4KYKoKUUG


16. Match the Column (I), (II) and (III). (Matrix) 

Watch Video Solution

17.  


From the above compounds select :

(A) two of which are chiral and contain chiral centre : _____

(B) two of which are achiral and contains chiral centre : _______ 

https://dl.doubtnut.com/l/_oXY9kNHMbuel
https://dl.doubtnut.com/l/_kdXeNy4gy2Jy


(C) two of which are chiral and does not contain chiral centre : ______ 

(D) two of which are achiral and does not contain chiral centre : _______.

Watch Video Solution

18.  


Consider the structures and answer A, B & C 

Which of the compound is optically active ?

A. P

B. R

C. S

D. T

https://dl.doubtnut.com/l/_kdXeNy4gy2Jy
https://dl.doubtnut.com/l/_3GPRmpJYAIWW


Answer: A::D

Watch Video Solution

19.  


Consider the given structures and answer A, B & C. 

Which of the isomer is most stable ?

A. R

B. S

C. T

D. U

Answer: A::B

https://dl.doubtnut.com/l/_3GPRmpJYAIWW
https://dl.doubtnut.com/l/_EQsSFyuDx8lu


Watch Video Solution

20. Identify relationship between following pairs : 

 


If they are enantiomer answer will be 1, if they are diastereomers answer

will be 2, if they are constitutional isomers answer will be 3 and if they

are identical present 4 as the answer. Sum of answer of each part a + b +

c + d is :......

Watch Video Solution

21. Examine structures a through j, shown below, with respect to their

symmetry or lack of it. Assume that the five-membered rings and the ring

in compound g are planar. The wedge-hatched bonds in b, c, d & e

designate specific configurations. Also, for the acyclic compounds

https://dl.doubtnut.com/l/_EQsSFyuDx8lu
https://dl.doubtnut.com/l/_nWnr9HDzm5rY
https://dl.doubtnut.com/l/_2LJyjG3jQ9uZ


assume stable anti conformations. Answer each of the following

questions by writing letters (a through j), corresponding to your

selections, in each answer box. If there is no structure that fits the

description enter an x in the answer box. 

Which structures are chiral ? 

Watch Video Solution

22. Examine structures through a to j, shown below, with respect to their

symmetry or lack of it. Assume that the five-membered rings and the ring

in compound g are planar. The wedge-hatched bonds in b, c, d & e

https://dl.doubtnut.com/l/_2LJyjG3jQ9uZ
https://dl.doubtnut.com/l/_s1I4EHds7GHe


designate specific configurations. Also, for the acyclic compounds

assume stable anti conformations. Answer each of the following

questions by writing letters (a through j), corresponding to your

selections, in each answer box. If there is no structure that fits the

description enter an x in the answer box. 

Which structures have a plane of symmetry? 

Watch Video Solution

23. Examine structures through a to j, shown below, with respect to their

symmetry or lack of it. Assume that the five-membered rings and the ring

https://dl.doubtnut.com/l/_s1I4EHds7GHe
https://dl.doubtnut.com/l/_Y9ZFpyqEyt5b


in compound g are planar. The wedge-hatched bonds in b, c, d & e

designate specific configurations. Also, for the acyclic compounds

assume stable anti conformations. Answer each of the following

questions by writing letters (a through j), corresponding to your

selections, in each answer box. If there is no structure that fits the

description enter an x in the answer box. 

Which structures have a center of symmetry ? 

Watch Video Solution

https://dl.doubtnut.com/l/_Y9ZFpyqEyt5b


24. (i) 1,2-dichlorocyclopropane = w 

(ii) 1,3-dimethyl-cyclobutane = x 

(iii) 2-bromo-3-chlorobutane = y 

(iv)1,3-dimethyl cyclohexane = x 

Calculate total number of stereoisomer of the above compounds. 

Sum of w+ x + y +z = ......

Watch Video Solution

25. Examine the following formulas and select those pairs that satisfy

the following conditions: Be sure to write two letters (and only two) in

each answer box, unless you select f. In the second and third parts more

than one answer is possible. 

https://dl.doubtnut.com/l/_uUibwQcS56gA
https://dl.doubtnut.com/l/_QTrUqozgFYqs


 


Which are constitutional isomers?

Watch Video Solution

26. Examine the following formulas and select those pairs that satisfy

the following conditions: Be sure to write two letters (and only two) in

each answer box, unless you select f. In the second and third parts more

than one answer is possible. 

 


Which are constitutional isomers?

W t h Vid S l ti

https://dl.doubtnut.com/l/_QTrUqozgFYqs
https://dl.doubtnut.com/l/_AEolHQr29opn


Watch Video Solution

27. Examine the following formulas and select those pairs that satisfy the

following conditions : Be sure to write two letters (and only two) in each

answer box. In the second and fourth parts more than one answer is

possible. 

 


Which are identical in all respects?

Watch Video Solution

28. Examine the following formulas and select those pairs that satisfy

the following conditions : Be sure to write two letters (and only two) in

each answer box. In the second and fourth parts more than one answer

is possible. 

https://dl.doubtnut.com/l/_AEolHQr29opn
https://dl.doubtnut.com/l/_cnqNfDNfoNPi
https://dl.doubtnut.com/l/_KdUkWlRb0A6h


 


Which are configuration isomers?

Watch Video Solution

29. Examine the following formulas and select those pairs that satisfy

the following conditions : Be sure to write two letters (and only two) in

each answer box. In the second and fourth parts more than one answer

is possible. 

 


Which are configuration isomers?

Watch Video Solution

https://dl.doubtnut.com/l/_KdUkWlRb0A6h
https://dl.doubtnut.com/l/_NCqQl1Rd5s4P


30. Consider the following statements regarding the given projection

(True or False). 

 


W and Y are diastereomers .

Watch Video Solution

31. Consider the following statements regarding the given projection

(True or False). 

 


Z is the projection of X .

Watch Video Solution

https://dl.doubtnut.com/l/_NCqQl1Rd5s4P
https://dl.doubtnut.com/l/_zndTKEyVmY4E
https://dl.doubtnut.com/l/_baAe5W9aIlEn


32. Consider the following statements regarding the given projection

(True or False). 

 


W, X, Y and Z are optically active .

Watch Video Solution

33. Consider the following statements regarding the given projection

(True or False). 

 


Y and Z are isomer .

W h Vid S l i

https://dl.doubtnut.com/l/_baAe5W9aIlEn
https://dl.doubtnut.com/l/_rT1r6Dwq0w25
https://dl.doubtnut.com/l/_wJ8mortReMZO


Watch Video Solution

34. Examine the following structural formulas and select those that are

chiral. 

Watch Video Solution

35. The configuration of eight compounds, a through h are shown below,

using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice. 

https://dl.doubtnut.com/l/_wJ8mortReMZO
https://dl.doubtnut.com/l/_MQsBuiJPw6AA
https://dl.doubtnut.com/l/_a3N5PNYu49cT


 


Which of these configuration are achiral?

Watch Video Solution

36. The configuration of eight compounds, a through h are shown below,

using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice. 

https://dl.doubtnut.com/l/_a3N5PNYu49cT
https://dl.doubtnut.com/l/_iSc32zEPezWG


 


Which configuration has no stereogenic center?

Watch Video Solution

37. The configuration of eight compounds, a through h are shown below,

using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice. 

https://dl.doubtnut.com/l/_iSc32zEPezWG
https://dl.doubtnut.com/l/_ZpoyTCEt1K5l


 


Which configuration has more than one stereogenic center?

Watch Video Solution

38. The configuration of eight compounds, a through h are shown below,

using various kind of stereo representations. To answer the question

given below, write (a through h) indicating your choice. 

 

Which of these configuration are meso compound?

Watch Video Solution

https://dl.doubtnut.com/l/_ZpoyTCEt1K5l
https://dl.doubtnut.com/l/_IuPwU7w7T7cm


39. The structural formula of ten compounds, (I) through (X) are drawn

below, you may select any one of these structure. Answer the following

question about that compound. 

 


A. How many chiral centre are present in this compound ? 

(a) 0 (b) 1 (c) 2 (d) 3 (e) 4 (f) 5 

B. Is this compound chiral or achiral ? C. What symmetry element are

present in this compound ? 

(a) None (b) Plane of symmetry (c) Center of symmetry

Watch Video Solution

https://dl.doubtnut.com/l/_SEYUDRG6FdaE


40. The structure of one of the enantiomers of the amino acid cysteine is

shown below. 

 


Classify this structure as : (a) R or S 

(b) D or L

Watch Video Solution

41. Identify the following double bonds either E, Z or None (N) in the

compounds given below either. 

https://dl.doubtnut.com/l/_hjrLwN9ckmjs
https://dl.doubtnut.com/l/_OzF7oD7OH0D3


Watch Video Solution

42. (a) Bongkrekic acid is a toxic compound produced by Pseudomonas

cocovenenans, and isolated from a mold that rows on bongkrek, a

fermented Indonesian coconut dish. (a) Label each double bond as E, Z

or neither (N). 

 


(b) How many total stereoisomers (including all types) are possible for

bongkrekic acid ? _______.

(c) How many sites of unsaturation are present in bongkrekic acid ? _____.

https://dl.doubtnut.com/l/_OzF7oD7OH0D3
https://dl.doubtnut.com/l/_lMMitZ5wEyxA


Watch Video Solution

43. Designate the following double bonds as E, Z or none (N)

configuration in the boxes provided below. 

Watch Video Solution

44. The following compounds may exist as two or more stereoisomers.

These may be classified as enantiomer pairs or meso compounds. 

https://dl.doubtnut.com/l/_lMMitZ5wEyxA
https://dl.doubtnut.com/l/_LVicBbdR8Bhy
https://dl.doubtnut.com/l/_AXCW7uWaD5Ya


 


Answer the following question about the above structure, 

(A) Total number of stereoisomers : 

(B) Number of enantiomeric pairs : 

(C) Number of meso compounds :

Watch Video Solution

https://dl.doubtnut.com/l/_AXCW7uWaD5Ya


45. Find relationship between given pair : 

 


https://dl.doubtnut.com/l/_f8wukCFsSvoh


Watch Video Solution

46. Structural formula of compound (A) is following: 

 


The correct statement(s) about the compound (A) is/are:

A. The total number of stereoisomers possible for (A) is 3

B. The total number of mesoisomer possible for (A) is 1

C. The total number of pair of enantiomer possible for (A) is 1

D. All of these B.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_f8wukCFsSvoh
https://dl.doubtnut.com/l/_DrtNQXz2aULF


47. Structural formula of compound (A) is following: 

 


Number of plane of symmetry in cis-form of compound (A) is:

A. 0

B. 1

C. 2

D. 3

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_4cqu4tRp07wp


48. Match the column. 

A. s, r, q, p

B. p, q, r, s

C. q, p, r, s

D. p, q, s, r

Answer: a-p; b-q; c-r; d-s

Watch Video Solution

https://dl.doubtnut.com/l/_xhlhuCwfv631


49. Match the column. (Matrix) 

Watch Video Solution

50. Draw a most stable conformation (N - C) bond in the following

compound. 

Watch Video Solution

https://dl.doubtnut.com/l/_Gftv0PTQlIDl
https://dl.doubtnut.com/l/_6X5HP3HygT2Q
https://dl.doubtnut.com/l/_gUhOjKIit14e


51. Find total number of stereoisomers for each compound given below : 

(1) 




Watch Video Solution

Ph −

O

∣ ∣

S − CH = CH − CH2 − CH = C = C = CH– CH = CH– CH3

https://dl.doubtnut.com/l/_gUhOjKIit14e


52. Find the total number of stereoisomer for each compound : 

Watch Video Solution

53. Match the column : 

 

https://dl.doubtnut.com/l/_dSGwH9LCq0K5
https://dl.doubtnut.com/l/_mdB1wfJz2m0Q


Watch Video Solution

54. Find sum of stereoisomer of following compound. 

Watch Video Solution

https://dl.doubtnut.com/l/_mdB1wfJz2m0Q
https://dl.doubtnut.com/l/_uuDz7MuTqJld
https://dl.doubtnut.com/l/_JIdHPf4mW8To


55.  


Prostaglandin E1 1 is a compound produced by the body to regulate a

variety of processes including blood clotting, fever, pain and

inflammation. 

Which of the following functional groups is not contained in 1 ?

A. A ketone

B. An alcohol

C. A carboxylic acid

D. A nitrile

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_JIdHPf4mW8To
https://dl.doubtnut.com/l/_0iNXnWXX0ODA


56.  


Prostaglandin E1 1 is a compound produced by the body to regulate a

variety of processes including blood clotting, fever, pain and

inflammation. 

How many asymmetric (stereogenic) centres are present in compound 1?

A. 3

B. 4

C. 5

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0iNXnWXX0ODA
https://dl.doubtnut.com/l/_SKfaemYdnPWo


57.  


Prostaglandin E1 1 is a compound produced by the body to regulate a

variety of processes including blood clotting, fever, pain and

inflammation. 

How many  hybridised carbon atoms are present in compound 1 ?

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_SKfaemYdnPWo
https://dl.doubtnut.com/l/_bZhgUPBBBFvN


58.  


Prostaglandin E1 1 is a compound produced by the body to regulate a

variety of processes including blood clotting, fever, pain and

inflammation. 

What is the geometric configuration about the double bond in

compound 1?

A. E

B. Z

C. both a and b

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bZhgUPBBBFvN


59.  


The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill. 

How many  hybridised carbon atoms are present in compound (1)?

A. 8

B. 9

C. 10

D. 12

Answer: D

Watch Video Solution

sp3

https://dl.doubtnut.com/l/_bZhgUPBBBFvN
https://dl.doubtnut.com/l/_isgAFYqaCG6a


60.  


The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill. 

How many  hybridised carbon atoms are present in compound (1) ?

A. 4

B. 5

C. 6

D. 7

Answer: C

Watch Video Solution

sp2

https://dl.doubtnut.com/l/_LNqvR05h14tB
https://dl.doubtnut.com/l/_beBRvCXqkiWd


61.  


The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill. 

How many  hybridised carbon atoms are present in compound (1) ?

A. 2

B. 4

C. 6

D. 8

Answer: A

Watch Video Solution

sp

https://dl.doubtnut.com/l/_beBRvCXqkiWd
https://dl.doubtnut.com/l/_bmygk5afzSyY


62.  


The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill. 

Which of the following functional group is contained in compound (1) ?

A. A ketone

B. An alcohol

C. A carboxylic acid

D. An ester

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bmygk5afzSyY
https://dl.doubtnut.com/l/_2p6qoWSX8Nz0


63.  


The synthetic steroid ethynylestradiol (1) is a compound used in the

birth control pill. 

How many asymmetric (stereogenic) centres are present in compound (1)

?

A. 2

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2p6qoWSX8Nz0


64. Match the column. 

 

View Text Solution

https://dl.doubtnut.com/l/_dlQ9aIlha0GR


Level 2 Subjective Problems

1. Number of chiral isomers are: 

Watch Video Solution

2.  


Number of stereoisomer are

https://dl.doubtnut.com/l/_dlQ9aIlha0GR
https://dl.doubtnut.com/l/_xUXZFwmiwu5P
https://dl.doubtnut.com/l/_tIFbJfU3fiZC


Watch Video Solution

3.  


Sum of number of stereoisomer (C) Degree of unsaturations in (D).

Watch Video Solution

4. How many 5 membered parent chain alkane are possible for ?

Watch Video Solution

C7H16

https://dl.doubtnut.com/l/_tIFbJfU3fiZC
https://dl.doubtnut.com/l/_RqhSdkU4gQbm
https://dl.doubtnut.com/l/_CZkgLVXnFXQo


5. Theoretical possible geometrical isomer of

Watch Video Solution

6. Total number of possible structural isomers of .

Watch Video Solution

C5H11Br

https://dl.doubtnut.com/l/_Qgr0NE8tsxNk
https://dl.doubtnut.com/l/_5uvVPyOQ6MBn


7. Total number of plane of symmetry present in given compound is 

Watch Video Solution

8. Total number of isomers for  containing cyclobutane ring are

( including stereoisomer) ?

Watch Video Solution

C4H6Br2

9. Total number of structural isomers of  containing cyclohexane

ring.

Watch Video Solution

C9H18

https://dl.doubtnut.com/l/_ly9ruOCLlKKG
https://dl.doubtnut.com/l/_4zVQL8RMQDOw
https://dl.doubtnut.com/l/_CTvoK8vgIQwW


10. How many structural isomer are possible for  (only alcohol).

Watch Video Solution

C4H10O

11. The number of structural isomers for  is :

Watch Video Solution

C6H14

12. (a)  

( Number of plane of symmetry) 

→ (x)

https://dl.doubtnut.com/l/_CTvoK8vgIQwW
https://dl.doubtnut.com/l/_4IeFzoHIJShE
https://dl.doubtnut.com/l/_76iB9wwnB0ym
https://dl.doubtnut.com/l/_8v5gWqFyg3Wb


(b)  

(Number of mesoisomer of 1, 2-dichlorocyclopentane) Sum of

Watch Video Solution

→ (y)

(x + y = ?)

13. Find out the total number of stereocentre in the given compound. 

Watch Video Solution

CH3 − CH = CH − CH
∣

Br

− CH
∣

Cl

− CH3

14. How many different stereoisomers are possible for the following

compound ? 

https://dl.doubtnut.com/l/_8v5gWqFyg3Wb
https://dl.doubtnut.com/l/_GaPokzt610Fa
https://dl.doubtnut.com/l/_mr82ZWOHsfA5


Watch Video Solution

ClHC = HC −

H

∣

C
∣

Cl

− CH = CHCl

15. Find the total number of isomers of  (only 5-membered ring).

Watch Video Solution

C7H14

16. x = number of compounds which undergoes Tautomerisation to form

an Aromatic product. 

 

Watch Video Solution

https://dl.doubtnut.com/l/_mr82ZWOHsfA5
https://dl.doubtnut.com/l/_9HvlyAF5TUDb
https://dl.doubtnut.com/l/_psffcwoUNHvt


17. If molecule is pyramidal, X stereoisomers are possible for : 

 


find the value of X.

Watch Video Solution

Cabcd

https://dl.doubtnut.com/l/_8lGDYtU7anwe

